PO )/
>, o

é‘é" % '?\ei Roll No. ‘ ‘ | ‘ l ‘ ‘ Answer Sheet No.
\% = /‘;}5% Sig. of Candidate. Sig. of Invigilator.

PRINCIPLES OF ECONOMICS HSSC-I
SECTION - A (Marks 15)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deletingloverwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

(i) Which aspect of human life is studied in Economics?

A. Political B. Moral (e Economic D. Social
(i) When Marginal Utility is equal to zero, then Total Utility will be

A Maximum B. Minimum c. Falling D. Rising
(Iii) Decrease in demand due to rise in price is called

A Contraction in demand B. Fall in demand

C. Extension in demand D. Rise in demand

(iv) If price of sugar increases by 10% and supply of sugar expands by 25% the elasticity of supply
of sugar will be

A Es<i B.  Es>f c.  Es=1 D.  Es=0
(v) Promotion of a Lecturer to Assistant Professor of FG College Islamabad is a form of

mobility of labour.

A. Geographical B. Horizontal C. Vertical B None of these
(vi) Under perfect competition relationship between Average Revenue (AR) and Marginal Revenue (MR)

is

A AR<MR B. AR>MR C. AR=MR D. AR falls, MR rises
(vii)  If Total Revenue of a monopoalist is maximum then Marginal Revenue willibe,_______———

A. Zero B. Negative G. Minimum D. Maximum
(vii)  The necessary condition for equilibrium position of firm is ;

A. MC>MR B. MC>AR c. MC=MR D. MC=AC
(ix) Which of the following is NOT the assumption of Marginal Productivity theory?

A Units of factors are homogenous B. Mobility of factors

C. Perfect competition ef Low price of factors
(x) After deducting direct taxes from personal income we get :

A Net National Product B. Gross Domestic Product

C. Gross National Product D. Disposable Personal Income
(xi) The equation of exchange PT=MV was given by

A Irving Fisher B Crowther C. Marshall D. Keynes
(xii) The Innovation theory of business cycle was presented by ‘

A J.R. Hicks and Samuelson B. Mises and Hayek

C. Hobson and Foster D. Schumpeter
(xi)  Who presented the theory of Comparative Costs in international trade?

A David Ricardo B. Adam Smith  C. Marshall D. None of these
(xiv) If Pakistan is facing deficit in Balance of Payments, how can it be corrected?

A Keeping constant the value of her currency

B. Increasing the value of her currency

C. Decreasing the value of her currency

D. All of these
(xv) Mr. Khursheed has Rs.50000/- for a year. How much amount will he pay as Zakat?

A Rs.1150 B. Rs.1250 C. Rs.1300 D. Rs.1350
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